SEMINAR #1

I. The place of English in the world of languages. Name the closest linguistic relations of English.

II. Linguistic features of Proto Germanic.

1. The PG phonetics. What are the features and processes which distinguish PG phonetics from Common Indoeuropian? What is the essence of Grimm’s and Verner’s laws?
a) Explain the sound correspondence in the following parallels from Germanic and non-Germanic languages (the sounds are italicized).

R боль         ОЕ balu  'mischief;            


R соль          G Salz 'salt'

L gena        OE cin [kin] (NE chin)


L pecus  Gt faihiu, OE feoh (NE fee)

R нагой        NE naked, G nackt



R приятель    NE friend

R дерево       Gt triu, NE tree



  L domare      NE tame
b). Analyse the consonant correspondences in the following groups of words and classify the words into Germanic and non-Germanic:

foot, pedal, pedestrian: twofold, double, doublet, twin, brotherly, fra​ternal; tooth, dental, dentist; canine, hound; hearty, cordial; three, trinity; decade, decimals, ten; agriculture, acre; agnostic, know; tame, domestic.

2. The PG grammar. Name the characteristic features of PG nouns, pronouns and verbs. 

a). Why can examples from the Gothic language often be used to illustrate the PG state while OE and OHG examples are less suitable for the purpose?

b). Explain the difference between PG strong and weak verbs. Which class was Germanic innovation? Classify the following Mod E verbs into descendants of the strong verbs and the weak verbs (Note that the PG -ð- became d or t in English). Explain the grounds for your decision. sing, live, rise, look, answer, speak, run, shake, warn, love, think, keep.

c). What were the PG means of building grammatical forms? Prove that suppletion is an ancient way of form-building which goes back to the epoch of the PIE parent-language.

d). Explain the difference between the grouping of nouns into declensions and the two declensions of adjectives in PG. Did the type of the adjectival declension depend upon the type of the nominal declension?

III Old English Phonetics.
1. The origin of OE vowels. 

2. Phonetic processes in the system of OE vowels. Name the major processes which occurred in OE.
a) explain the origin of the diphthong in the following words: eahte (eight) – Gt ahtau; bearn (child) – Gt barn; steorre (star) – Gt stairra; eall (all) – Gt alls; heorte (heart) – OHG herza.

b) explain the correspondences between Gothic and OE words: Gt hausjan  - OE hyran (hear); Gt laisjan – OE læran (teach).

c) explain the existance in modern English of such forms as old – elder, strong – strength; goose – geese; man – men; full – fill. Name the phonetic process which accounts for the vowel interchange.
d) explain the rule for using /a/ or /æ/ in the following words: talu, wæl, æfter, bacan, dæge, lagu, tōgedære. Mind that both sounds correspond to PG /a/. What other OE correspondences of this sound were possible?
3. The origin of OE consonants.

a) Explain the reading rules for the following letters: «g», «с», «ð», «f», «s». Read the following words: swā, steorra, stefn, weorðan, waðu, wīse, wīsdom, cēōsan, feollan, ðurfan, baðian, ofer, gehlæca, giefu, plōg, stīgel, clift, licgan, gān, cēne

b) explain the reason for the loss of cconsonants in the following words: ōðer (Gt anðar), ūs (OHG uns); fīf (Gt fimf)

b) what consonant and vowel changes are illustrated by the following pairs of words?

Gt maiza – OE māra (more); Gt kunðjan – OE cyðan (inform); Gt dauðs – OE dēād; Gt saljan – OE sellan (sell); OHG isarn – OE īren (iron) Gt hausjan – OE hīeren (hear); O Scan skaft – OE sceaft (shaft).

Read an extract from Anglo-Saxon Chronicle. 

On ðy ylkan gēre worhte sē foresprecena here geweorc be Lygan twentig mila bufan Ludenbyrig. Đā ðæs on sumera foron micel dæl ðāra burgwara ond eāc ōðres folces ðæt hie gedydon æt ðāra Deniscan geweorce, ond ðær wurdon gefliemde, and sume fēower kyninges ðegnas ofslegene. Đā ðæs on hærfeste ðā wicode sē cyning on neaweste ðære byrig, ðā hwile ðe hie hire corn gerypan, ðæt ðā Deniscan him ne mehton ðæs ripes forwiernan. Đā sume dæge rād sē cyng up be ðære sæ, and gehawade hwaer mon mehte ðā ēā forwyrcan ðæt hiē ne mehton ðā scipu ūtbrengan.
 
In that very year the before-mentioned (Danish) army built a fortress by the river Lea 20 miles above London. Then in the summer there came a great part of those citizens and also of different other people so that they reached the Danish fortress and there they were defeated and about four king’s warriors were killed. Then during the harvest time the king stayed in the nearest town while they gatheres their crops, so that the Danes should not prevent them from gathering the crop. One day the king rode by that sea and reflected if it was possible to block that river so that they might not bring their ships up the river.
